20194EE IKBRHU—9YVvI—KE
(38 U—9li BRHIR K& TF%)

A RART TR T 47130 (+)
Vs 5H12H0 (R)
T B 5H18H (1)
A C
1 &2 il B |7
2| EEWM JE R 8
3 LENEE| DofAvE |9
Y D B |10
5| FEARSS 77— (11
6 P Eiflblva |12
% 13
Y 1o Al vs D2 Bl wvs C2
Cl vs B2 D1 vs A2
JIEA IR A3 vs B3 C3 wvs D3

EyF P A X1E35m X 50m T, I==F— /L&

REeRIX124 — 55— 124

U— 7 BRI AR - 150 R - A AR CIEAL R BB (RISBDRA1E3 AL DPK)
TRY— 7 DL 260 F — DR —F A b~

FBY—7 DONLF —LPNELL R TES—F A b~

PR —F A MIFADOE A, SACIAPKE GRBEEDA 55— 7 DIEE )
EAL9F — AR KR DGR 5




10
11
12
13

20194 pE

I B HU—9Yvh—KRkE

(PRER)
ATy
2 ERW B | 5 N A
b= % %k % 4 — 0 4 4 0 1
EBW |0 — 4 % %k % -5 0 5 3
L 0 — o0f1 — o0 1 1 0 2
sA=0
v Ah E#SS BRa | BR E I
TAH % ok ok 13 — 0 14 15 1 1
E#&sSSs [o — 13 % sk ok -21 0 21
il 1 — 2|8 — 0 7 9 2
Cravr
A i e JE 5 | A E g
Ebili B % %k %k 5 — 0 4 5 1 2
IE 0 — 5 % sk ok -14 0 14 3
onEE | 1 — 9 — 0 10 10 0 1
D oy
= Uy r—)v | bR e Wi | A | R N JIEAST.
=3 % %k %k 1 — 3]0 — 6 — 0 -13 1 14 4
vrer—n | 3 — 1 % % % 1 — 0 — 6 1 4 2
a6 — oo — 1 % ok % — 3 4 6 2 3
o8 5 — 0]l2 = o1 = 0 % sk ok 9 3 8 1




20194 F WeBRTHU—9Y>H—KR=

FBY—S 1259 —7
4/13 BTSN Crafml | 4/13 BT TN oFitip[w il
S| *F 4 ) FRFH] *f L4 el
10 N 11 12 e . o 13 8|
9:00 =1 1 - 3 Uyir— kg B 9:00 ElEE 0 - 1 o JE R,
9:40 ! FRIGRE 5 - 0 =87 i Yy s—n ! 9:40
10:2010 i 0 - 5 % a T PE 910:20ll Ty r— 1 - 0 Al kI B
11:00 11:00 ! T e 1 - 0 kiR | = y
12 10] 8§ 13 . N 9
11:40 HE 6 - 0 = JE R, 11:40 & 2 - 0 Uyprr—n TN e
12:20 ; =82} 0 - 9 T e PR il 212:20
4/13 BESITTUR Dimivg | | 4/13 BETITIR D i B
FRF ] *f i e FRF ] *f i e
9:00 9:00 ] 2 4 - 0 R i AT |
9:40 9:40 ! TAH 13 - 0 FEARSS | [ :
3 1 6]
10:20 10:20 FLE 0 - 0 =z PEER
11:00 11:006 PEED 1 - 2 AN | L |
11:40 11:40 ’ ERVE 0 - 1 HH | E#SS i
12:20 1&m'5 EASS 0 - 8 Ph | ERPE i

S8RF30 LV A HI CEBRESFZLITWVET
ERLSBIGEN-F— BRI, RBOBRAREIZTZAMAZL TSN
DEEEETT —A
SR HEET—2

Ul B~ W DN =

FIRAH, 2B BDOTF—24

BB DT — 24

(BRI LA OF — LR AT L VITS
CEHIR BN A
AN —=F =y JIFIATOERA
RARERIX12-5-1247

JEALIE OB R @R RO R DNE [FIFRDFEILPK(3A)

6: Z HAER A A A A~ TR

7 HE I3 R DB ETRELIZE N

8 1 A5 1A & ST (VPG 7 1 IR R T 1)
9: Xy 2R —RIZF — L7 L — MR



20195 E IKREHU—9Yvh—KE

2019%5H128(A) K EBRISF
Al 12 —
D2 | TJFvU—IL —
B1 +4h
c2 | R —
: 16 LEIYMR—ILHI5T
SILRTER | RAFEL
B2 it —
2461 PN#ATERR—VD>EFH
Ct fn#keE
3t REYYH—RKR—VL
A2 CT:: [ —
i AL BB — D R ks E
D1 % —




20194EE BEHU—9YvH—KXKE (REFEF—FX2R)

Sups 125 /1\—7
5/12 BRISIUR camfl | 5/12 BHRISIUR cmAfal
i=3ih| xt B =¥ i=3ih| *F B x|

A1 @ . p2| 82 B1 @ " c2 Az
9:00 2 2 -0 Yroo—IL FHER 9:00 t1h 0 - 1 B R 2/

c1 ® " B2 83 D1 L 1 @ 4 A2l o3
9:40 pikoTic) 3 - 2 it E#SS 9:40 i - 2/ BT

PK2 - 3

A3 ©)] B3 D2 c3 D3 c2

10:20 KB 6 - 0 K#&ss g7 o—) 10:20 ER 0 - 4 P2y ic] B E
TSR RE

0;°] . 0 ® -] 0L ©-] ® o @& Ok

11:10 JroO—IL - t1h Ite 11:10 Eicd 0 - 1 ] hikEE
PK2 - 3

O] @ (o] A3 ©):] ® @8 c3
11:50 2 1 -0 B R RRA 11:50 ki) 1 -0 B@ ER

OB 1 iR 1 ()3 (©°] (=]
12:30 EEA - E & EHIER 12:30 E#SS 2 - 1 ER EHIER

PK2 - 1
TSR RE

)] 5iR o ©8 @ ®& TiR ©& @
13:20 tAHh 0 - 2 ® ite 13:20 Srog—IL 0 - 5 g1l plIEE]

@] R @ @& 3R ®&
14:00 2 1 -0 ikl EHIER 14:00 B B 0 - 2 B@ EHIER

8KE30 LA EH R CEBSFE LI TVET
EBSBIBN - F— LB, KB ORI TR 2L TLEEWN

KRR ET —L &F—24
S ANBEET—2o BERAEGO2T — A4

L ST 1R G OF — LA BRI RTLVIT 61 Z B ALFR IR A AR A~FE

2 Bk T H 7: BEVE IR/ BB CIREL SN

3 AN—F =y VI ITVETA 8: A M E R (HEAILPE 51, AR HHIE R 50
4 RAFEEIL12-5-124%) 9: Xy aR—RIcF — 27— MER

5: EA I OB RO L EOREEDIE FHEDLEEIIPK(3AN)

B EEIvrR—ILYST 5 BRAR—YIERYvI—EB Ofif REEIR—VIEEHvHI—EB
HEEE NHERR—YDERYYH—E 66 EALHJIFC 1061 JFCEfHEE

3 BRYYH—XR—YDER 74 EHMAR—YDERYvh—8 114 EZ&FSS



